B e

L.afvtn&/ A

Moy = 3(a*~batt)t al=f = ko -1 +8
b = x*-F(x*-36) -3(gx*+x+1)
= xP gt d = 3T 3 -3 = -3xd
2a) =($a~7)2
b = 10x (4y2-20 y+15) = 10x (2y-5)°

30) = HE(Bx-hy) | 3x-4y
Sy xy
L) = ﬁ"’3ﬁ - X +3
Ga)(3-%) 37X

O - BB b A (g
M

b+

ko) X5241-F M o

(x-2)2 + 6 = X3 & 2x +2 =3x [-%x o x=2

b 2x(3x-§)-2x

h

(%x{?)z &

Xl"”ox"’g—x?’ = g')"{-}x +9 }"Z‘X?
& —-A0x = —3Ix+§ [+3x
= —PFx = 9 Jif3) = x=~3

5) < (x+5) + 64 = (x+3)(x+§) &
P ES + 66 = xTH1Ix +2Y4 |=x® | -5 |-
) ¢2 = 6 x [+ ¢ = x=F
Dic Seidem sind 7 pemd 42 om Cang

be) 4= 202 + 202+q Mg = 256 (wd) [o;“_. A= 2020 - ’lf_z”__é’] |
L) A, =400~ 25¢ =14y %‘gﬁ =036 =36 %

Q) A= 20x+ ?ﬁ_zt%_)i (20-x) = 0x + (10+x)(20-x)
= 20 +200 + Wx -x? = 200 +30x -x?

X £40  ( 2x hodskns 20 )



